Area of Sectors and Segments Notes- ACC 

Find the area of the shaded region. 
Sectors: 						Example 1:
[image: ][image: ]


















Example 2: 						Example 3: 

[image: ][image: ]

















Segments: 							Example 1:
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Example 2: 					Example 3:
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Example 4: 					
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Area of Sectors and Segments HW- ACC 

Find the area of the shaded region. Show in terms of pi and round to the nearest hundredth. 
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11. 	r=8cm 						12. R = 12m, r = 9m
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Find the missing variable. 

13. The 	shaded area is 12cm2. Find r. 			14.  The shaded area is 32cm2. Find r. 
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	15. The shaded area is 120cm2 and the radius is 24cm. Find x. 
	
	16. The shaded area is 10 cm2. The radius of the large circle is 10 cm and the radius of the small circle is 8 cm. Find x. 
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A grocery store is slicing a wheel of
cheese into slivers for free samples.

0

What is the area, in square inches, of
one sliver?
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@IIIIT® Probability with Sectors

) Refer to the figure.

a. Find the total area of the
shaded sectors. "A ‘
(e
The shaded sectors have degree 2 15
measures of 45 and 35 or 80° total. Use i-‘w l

the formula to find the total area of the

shaded sectors.
-,
A= 36o‘l\'r2 Area of a sector
:
360

- Simplify.
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Find the area of the shaded region. Then find the probability that a point chosen
at random is in the shaded region. Assume that all inscribed polygons are regular.
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